ESHEE0T17001%
Y1 47A1 7R

BN RSB
FBEERS SHERE B
B4 FEE TBEER
K ER A ERE
(SEIEEHE)

PEBLFSMENICKS T 5 55 SR (PR 1 28 ES) 1250 T

FECIZOWTIE, BBF6 24 8 A 5 BT EBER "EIZRFy T EANCKT 2
FEE SNEMERRIEOFERICOWVWT) (EL1 4582 7 AHITESHEIEEOS 2
700 1FICEVEIERE) ICESE, Y TLFRIZSOVWTHELW W TN ED
ATHBHMN, G, FR1 OFEENOER 1 2EEE TOHEMNED LBV EF LD

T, EFOSEERE L LUERA Sz,
BB, ER L 3EESICONTL, RV ELEVRE, Bo TEEREBAOLET

DTETH D,



PZERFHEANCHT EH KHEERRITOVCT(FER 125 E)

HREBORBIBHFOBERAHLBRDSL  WEFBENFTERFNEATHEE
BOhIBIZHTHHERRERDESYTHS,

1 KHBEDOELE

B4 S B4 L2
105E|11EE|128E 10FE|11EE[12FEF
NS5 al 26 37 P ¥y v T — 2 4 2
1 > v 35 29 Yl ) 1 1 1
N FRE Y 21 23 23|73 — + 2 2 1]
th Ed] 14 11 2207 £l 1 1 1]
7 4 Y E v 17 17 9z v ¥ = 7 0 0 1]
A 5 v h 15 16 17[E — 1T % X 0 1 1
A v K 8 12 150 > 7 0 0 1
2 1 6 16 Br v 7k 1 0 0]
B2 Ed 8 11 10A 5 < I 1 0 0
LI N 1 3 7|17 = 7 0 1 0
N — )L 8 7 7WF 1 1 0 0
~ v = 10 13 51k = = A o 1 0]
v A 5 1 5 k) B 7 1 0 0
~ )L a 2 3 It F T a3 0 1 0
AN b F A 0 4 3
L -7 1 i 3 = & 188 221 226
J 2. Y I 5 o2 ) ;
2 EASEEE
B4 A
10FE|11EE 125F
it & & 1 0 0
*x B 15 31 31
FES 9 16 15
¥ B 70 85 78
X 1 i 0
F OE 28 21 32
B R 4 0 0
B = 1 4 0
5 2 2 4
B 3 2 1 0
E 5 3 4 4
i B 0 2 4
#7 [ 5 6 6]
s 32 41 40
= =F 11 6 7
B B 0 0 2
= & 1 0 0
E E 2 1 2
= B 1 0 0
/N - 0 0 1
Ll 188 221 226

XEDMDEIX10, 11, 128 E0H




3 MHBESDESE

A E A #
Zozs| FEomE [0 [0 iz |EXH| mmomm [0 | 2
) SE | EE| 58| FE | 5E | FE
02 |KR # & H #E 1 1 W 50 1€ E ¥ 8 % o o 3
03 | D #h o &% % 0 2 W 51 EHETEEREE 8 6] 5
11 B B B % 2 0 0] 53 | LY E 4 10 7
1o |EEMBREXE 5a |EREGEERXG
BEHAREEE 1 0 o~ EEMIXE 39| 51| 50
25 |i# A % 1 0 il 55 | -» & £ 1 2 1
31 |[KAREER. 56 | EERSE 9] 16 7
TOEEHHREE| 0] 0| 57 |EXHHFEAEE 4 4 3
35 (B B = E| 23] 23] 29 58 Eix AR
38 BIESEEY 4 g 25| 22| 27
HiETEE 1 2 O g4 |EEEHm EHE
36 BHEBEDMIT R T 0 0 1
XIFEHDOEZE 1 0 of 71 |3 @ & # T % 0 0 1
37 | TOOBEHEE 6 7 6] 61 | T o EZE 1] 11 19
41 B WM & B oS 14 20 2fl 72 1B Y B k= = 1 0 2
ap |FAETERRI o5 |BEXITBEEE
R e 3 7 3 LS D% 2 3 3
aq  |KRHRIE o1 AR, KEXE
AEREEE 7 5 7 LEDEE 2 1 2
45 [NLTR(TREER 0 1 1l 93 |[EiLAFFRE 0 0 1
46  |FN M X 13X & K & 0 1 94 |[EOMOEEEE 14 16 22
47 b 2 T % 21 8 4
66 |V Y--+EIEE 3 2 2 Asd
o |ZOBOEEYE &5t 188| 221} 226
ITRESHEE 2 0 2
4 FHERR
A £y
RIE B A O FEHEI0 |11 12
EE | 5E|EE
BE (BE) B 167] 2000 215
RE(EE)KLAA  79] 98] 107
BEE(HE) B 18] 371 24
BEER(mE)K 5 1 1
ERE(EERD 4 0 0
=) &t 273| 336| 347




